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DC Operating Point Analysis

hwb_p2

Variable

| Operating point value ||

V(base)
V(collector)
V(eZ)
V(emitter)
I{Q1[E])
1{Q1[cy
I{Q1[ED)

R ER R

2.54206
5.91222
2.07326
2.17652
7.38907u
1.02926 m
-1.03663 m

Selected Diagram:DC Operating Point Analysis
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2. Common Emitter Amplifier

The simulated value of 26.2dB closely fnatches the hand calculation of 26.3dB for both Av and
Guv.

R in
hw5_p2
AC Sweep

oy (Hz)

The simulated Rin value of 83.6dBQ éfgsely matches the hand calculation of 83.3dBQ.

Rout

hws_p2
AC Sweep

Frequancy (Hz)

The simulated Rout value of 69.5dBQ closely matches the hand calculation of 69.5dBQ.
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3. Common Collector Amplifier

AV and Gv

hws_p2
AC Sweep

The simulated Av value of -0.117dB niatches closely the hand calculation of -0.114dB. The
simulated Gv value of -0.125dB matches closely the hand calculation of -0.121dB.

R in
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AC Sweep

0

The simulated Rin value of 94.8dBQ closely matches the hand calculation of 94.7dBQ.

Rout
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AC Sweep

Froquency (1)

The simulated Rout value of 28.0dBQ closely matches the hand calculation of 28.0dBQ.
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4. Common Base Amplifier

AV and Gv

hw5_p2
AC Sweap

The simulated Av value of 39.9dB matches closely the hand calculation of 40.3dB. The
simulated Gv value of 30.6dB matches closely the hand calculation of 30.7dB.

Rin
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AC Sweep

The simulated Rin value of 28.3dBQIcioéely matches the hand calculation of 27.9dBQ.

Rout

hwS_p2
AC Sweep
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The simulated Rout value of 69.4dBQ closely matches the hand calculation of 69.5dBQ.
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